LOSUNG zu bsp-5328-2/TBCU

Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 5328

Aufgabe 1

Vereinfache und fasse zusammen. Wende die binomischen Formeln an.

a) (9y + 62)° = 3622 + 108zy + 8132
b) (Tx + 4y)2 — 4922 + 562y + 16y2
¢) (8b + 7a)(8b — 7a) — 640> — 494

d) (4a — 5b)% = 16a2 — 40ab + 25b
¢) (3z 4 8y)(3z — 8y) = 9z2 — 6412
£) (3y + 72)(3y — 7z) = 9y? — 4922

g) (6y + 8z)(6y — 8z) = 36> — 642
h) (8x + 3y) 8z — 3y) = 6422 — 9y?
i) (62 + 6y)% = 3622 + T2zy + 363>
i) (8a + 9b)(8a — 9b) = 64a? — 81b°

Aufgabe 2
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Vereinfache und fasse zusammen. Wende die binomischen Formeln an.

a) (dy — 82)% = 6422 — 64zy + 16y>
b) (9a + 2b)(9a — 2b) = 81a® — 4b?

¢) (Ta 4 (—4)b)? = 49a% — 56ab + 162

d) (4b — (—10)a)? = 100a2 + 80ab + 162

) ((=4)b+ (- 5) )((=4)b — (=5)a) = 16b* — 2547
) ((—8)z — 8y)? = 6422 + 128zy + 641>

g) (10a + 9b)(10a - 9b) = 100a® — 812

h) (9a — (—5)b)? = 81a2 + 90ab + 25b

i) (4b — (=5)a)? = 2502 + 40ab + 16b>

i) (9a + (=3)b)(9a — (—3)b) = 81a? — 9?

Aufgabe 3
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Vereinfache und fasse zusammen. Wende die binomischen Formeln an.

a) (T2 + 5y)? = 4922 + T0zy + 25y
b) (4y + 10x)(4y — 10z) = 16y — 1002
¢) (4b — 3a)? = 9a2 — 24ab + 16b>
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d) (4a — 5b)? = a — 40ab + 25b2

¢) (9a — 6b)> = 81a% — 108ab + 3612

£) (3b + 5a)( b ) — 9b2 —25a>  g) (5b+ 3a)? = 942 + 30ab + 252
h) (4a — 7b) — 164 — 56ab + 49b°

i) (6y — 6:1:) — 3622 — T2y + 36y2

i) (Ty + T2)? = 4922 + 98zy + 49y2

Aufgabe 4

Vereinfache und fasse zusammen. Wende die binomischen Formeln an.

a) ((—6)b — 4a) — 16a® + 48ab + 36b°
)

b) (4a — (—8)b)? = 1642 + 64ab + 64b>

¢) (=3)y — (=9)z)? = 8122 — 5dzy + 9y?
d) (9z + (—8)y)2 = 8122 — 144y + 641>
e) (Ty — 3:13) = 9x — 422y 4 49y>

£) ((—3)b — 10a)? = 100a2 + 60ab + 9b

g) ((—=5)b — (—6)a)? = 36a% — 60ab + 25b>

)
h) (106 + (—2)@)2 — 442 — 40ab + 10002

i) (3b -+ 8a)? = 64a® + 48ab + 9b?
»((=9)y — (—3):1:)2 — 922 — 5dzy + 81¢y2

Viel Erfolg!
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